
2019/EVEN/HISP-601/089

TDC Even Semester Exam., 2019

HISTORY

(Pass

(6th Semester )

Course No. : HISP-601

[ History of Modern World (1939-1945) ]

Full Marks: 50
Pass Marks : 17

Time: 2 hours

The figures in the margin indicate full marks

for the questions

Answer five questions, taking one from each Unit

UNIT-I

1. When did the Second World War start?1.
Discuss the effects of the Second World War.

1+9 10

2. What is Cold War? Analyze the origin of the2.
Cold War. 2+8-10

J9/2099 (Turn Over)
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2)

UNIT-II

3. What are the salient features of Non-

Alignment? Define the importance of

5+5 10Non-Alignment.
4. Name three founding fathers of Non-Aligned

Movement. Examine the role of India in the

3+710Non-Aligned Movement.

UNIT-III

5. What are the chief causes of awakening in

Africa? Mention the reaction of the West

towards the awakening of Africa. 5+5-10

6. Name two African leaders in the

post-Colonial Period. How did the newborn
African countries promote the cause of

2+8 10African unity?

UNIT-IV

When was the League of Nations formed?

Name the country which did not join the

League of Nations. Discuss the political

achievements of the League of Nationss

during the inter-war period.

7.

1+1+810

8. What were the aims and objectives of the

League of Nations? Why did the league finally
fail to achieve its aims? 4+6 10

J9/2099 (Continued
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3)

UNIT-V

What is the full form of the UNO? Analyze the

functions of any two organs of the UNO.
9.

1+9-10

10. Where is the headquarters of the UNO
situated? Form an estimate of the political

achievements of the UNO. 1+9=10
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